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Secondary Endings

The imperfect shows a second set of verbal endings which need to be learned at once, because they
are used with slight modifications in, or provide the model of, several other conjugations. For
example, the optative is for the most part the imperfect with an -1 infix (and of course, without the
past tense augment, “a”). The imperative also follows the imperfect in many places (again, of course,
without the past tense augment, “a”), but its 1 person is actually the remnant of the Vedic
subjunctive, which otherwise did not survive in Classical Sanskrit. Compare

Singular Dual Plural

1* person imperfect -am -va -ma
optative -lyam -Iva -ima
imperative -ani -ava -ama

2" person imperfect -s -tam -ta
optative -1s -itam -ita
imperative - -tam -ta

3" person imperfect -t -tam -an
optative -1t -itam -lyur
imperative -tu -tam -antu

1* person imperfect SPT=H SPT=STT STT=3H
optative copi EoE| T
imperative T HATd HAH

2" person imperfect IPT=Y ST IPT=Sd
optative :lel"v'[\ '_'|€|?'|T[ Tad
imperative Hq HIdH Had

3" person imperfect IFT=] SIURCTSILE | ST
optative Td. TATH. :l'a'ﬂ{
imperative H4q HAdH Hd]




